Name:

.,

{Print your name clearly!)

Sametz: CHEM 322 2010

Organic Chemistry Exam 3

All answers should be written CLEARLY in the space provided. (If it's not clear, it's wrong).

1 ! OI‘\ =
i1 H T e, He
1.008 : B 13 14 15 18 17| 4.008
i % = k1 T 7 3 7 ki
A4 Li 5 BIC|N]J]O|F |[Ne
fi.941 : 1081 12094 140078 16.006) 1600 | 2018
] ; [ 15 15 ) 7 il
i Na . ALl Si|P IS |Cl| Ar
22.9580] 24 305 4 5] 8 ] 12 26.902] 28.006] 30.974} 32.06 [3%.453] 38 948
15 .21 24 2 av 29 K1 2 33 i KE] RER
| K Ti Cr Fe|Co Zn|GalGe| As| Se | Br | Kr
39, 098 #7.90 52.00 5585 | 5883 6538 | 60.72 | 7289 | 74 9? 7808 | 7090 | 88
EL) TE E7] 35 B S 1] o ER] B
3 Hb Zr Mo Rut Rh Cd| In [ Sn Sb Tel| | | Xe
B5 468 01,22 6,04 1011 ] 102.9 24 | 1148 | 1187 | 124 B 12760 1268 | 1313
it 70 7q 70 7 ] <] 1) 1 &7 i]:4 i3]
8 (s Hf W Os| Ir Hg| TI | Pb Bi Po{ At | Rn
jaz2g [RLEE] 1018 180,22 192.2 2034 | 2040 | 2072 2G9 {209; | (210) {2287
B [iEY 105 i H
4 Fr Rf Sy Hs | Mt
(223) {261) (266) [26@)‘“ ;261]3
it fii] [i¥3 [%] i GF i) Y m 71
¢ |Ce Nd sSm| Eu Dy|Hol| Er{Tm|Yb{ Lu
1401 144.2 1504 | 152 1625 | 164.9 | 1673 | 18B.6 | 1173 15
214 o T3 ) T8 T TG TOT 02 03
Th U Pu Am Cf | Es|Fm|Md|Noj Lr
282 238 (244) | (243) o0y | (s | 1257 | (250) | {259} | 1252)

You may raise your hand to ask a question if you are unsure what a question is asking of you.




Part 1 Short Answer

1. (6 points) Name the following compounds:
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2. (4 points) Give the product of the following reaction, i.e. explicitly show which hydrogen(s)
isfare exchanged for deuterium.
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3. (10 points) Explain why an alkyllithium reagent adds two alkyl groups to an ester, but only
one alkyl group to a carboxylic acid.
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Part 2: Reactions and Synthesis

4. {30 points) Give the major organic product(s) for 10 of the following 11 reactions. CLEARLY
INDICATE THE QUESTION THAT YOU DON'T WANT GRADED! Otherwise, the first 10
questions that show work wili be graded.
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5. (30 points) Give reagents for the following transformations:
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6. {10 points) Give mechanisms for ONE of the following two transformations. CLEARLY
INDICATE THE QUESTION THAT YOU WANT GRADED! Otherwise, the first question that

shows work will be graded.
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Part lll Multistep Synthesis (9 points)

7. (10 points) Choose one of the two following synthesis
problems. Show how you can synthesize the product on the
right from the indicated starting material on the left. You can
show a retrosynthesis for partial credit, but full credit requires
writing out a sequence. of forward reacnons (see box at right for

an example). /
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